MERCURY [-150 EFI [2.5L])
Serial Mbr Range: 0T 403000 thru 0T 800933 [LUSA)

£ s D 30W 4 Cycle Engine Oil (82-97958)
F o5 [» Chemtool Duralube Special {92-824501)

¥ DUAL EMGIME EXTENSION KIT

Ref |Clazs|Part

Description

| A

Qt Comment Footnote

1 25 48462 O-RING 1
2 716654 2| TUBE-CABLE GUIDE 1
3 41055 MOUNT 1
4 14 42100 TABWaSHER 2
5 11 37984| JAM NUT 2
B g5404| TAB WASHER 2
i 1o 38607 SCREW[1/4-28 x 5/8IN.) 4
g2 1772941 BRACKET 2
3 10 62055 SCREW [3/16-24 x1-1/4 1M |4
10 17728| TABWASHER 4
1 10 14000 1| SCREW [3/8-x1-1/4 IN.) 2
12 11 326709113] NUT £
13 37933 1| STEERING EYE 2
14 23 23651 SLEEVE 2
15 97531 TUBING 2
16 814351 3| COUPLER 1
17 11 42093] JAM NUT 1
18 22 821163 COUPLING 1
19 12 34931| waSHER (734 0.0 1
15 12 37828| WASHER [(E25 0.0 1
20 10 94319] SCREW [3/8-24 0 1-1/21N.) 1




